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I. A beam is loaded and supported as shown in Fig. 1. Draw complete shear and
moment diagrams for the beam. (25%)

2. A cable supports two vertical loads as shown in Fig. 2. If the maximum tension in
the cable is 1000 Ib, determine (25%)

(a) The horizontal and vertical components of the reactions at supports A and D.
(10%)

(b) The vertical distances yz and y. (10%)
(c) The length L of the cable. (5%)

3. A boy with a mass of 60 kg is standi%%xgix 40x300 mm wood (E=10 GPa) diving
board, as shown in Fig. 3. If B is; d length BC is 1.5 m, determine
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